

"ÁUÀ4J

ಕರ್ನಾಟಕ ರಾಜ್ಯಪತ್ರ,ಗುರುವಾರ, 11, ಜೂನ್, 2020

1725

GOVERNMENT OF KARNATAKA

No. RD 33 SSM 2019

Karnataka Government Secretariat, M.S. Building, Bengaluru, dt: 11.12.2019

NOTIFICATION

In exercise of the powers conferred under section 5(2) of the Waqf Act, 1995, as amended during 2013 (27 of 2013) the Government of Karnataka, Minority Welfare Department has forwarded the proposals received from the Deputy Commissioner, Addl. Commissioner of Survey, Mandya District, Mandya to the Board in letter No.LND(1)52/2019-20, dated: 27.06.2019. It is verified and approved by the Administrator, Karnataka State Board of Auqaf on 08-07-2019. The Govt. of Karnataka is hereby notify that the following immovable properties are Waqf properties.

Name of the District: MANDYA

Name of the Taluk: MANDYA

Sl. No.	Name & Address of the Institution	Sunni or Shia	City / Town / Village	Sy. No. /CTS No. / Khata No.	Extent	Boundaries	Value in Rs	Year of creation of Waqf / C. R. No. & Date	Name & Address of Waqif	Beneficiar ies if any	Object of Waqf	Gross Income of Waqf	Administr ation by custom / hereditary or scheme settled by Court or Board	Scheme approved by Board	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16
01	Al- JamathulMalbariya Masjid, Anekere Beedi, Mandya	Sunni	Mandya Town	Khata No.D1. 215/142	127+114 X 180 2 =21690 Sq.ft	East: Road. West: Road. North: Road. South: Road.	3.00 Crore	KBW/REG/71/M YA/ 2012-13 dt:13.06.2012	Muslim Jamath	Muslim Jamath	Masjid	27,89,951/-	By custom	Deemed approved	As per RC. 1867.89 Sq.ft as per sketch 21690 Sq.ft Excess 19822 Sq.ft, Khata effected
02	Addl. Properties belongs to Jamia Masjid,	Sunni	Mandya Town	M.K.No.D2/2 88/671	30' X 18' =540 Sq.ft	East: House of ManilalWest: Road. North: Road. South: Site belongs to Waqf (Block 2) East: Site of ShanthilalWest: Road.	50.00 Lakhs	KTW/REG/4/MY A/87-88 dated: 24.11.1987.	Muslim Jamath	Muslim Jamath	Pious Purpose	Nil	By custom	Approve d	Khata Effected
	Mandya.			M.K.No.D2/2 89/672	30' X 16' =480 Sq.ft	North: Site belongs to Waqf (Block 2)&Shanthilal Site South: Shripal Building								d	
03	Masjid-e-Abubakar & Arabic Madrasa, Beedi Colony, Mandya.	Sunni	Mandya Town	Municipal Asst. No.D2/ 1923/ Sy.No/ 507/BWE/S.	125' X 235' =29375 Sq.ft	East: Road. West: Road. North: Road. South: Road.	1.00 Crore	KSBW/REG/54/ MYA/2011-12 dt:26.03.2013.	Muslim Jamath	Muslim Jamath	Masjid	2,60,902/-	By custom	Approve d	Khata Effected

				No/.356/B											
04	Ajuman-e- Falahul Muslimeen, Gandhinagar, Mandya.	Sunni	Mandya City.	M.Asst.No. D4- 1514/3795/1/ 38-1	30' X 20' =600 Sq.ft	East: Property belongs to Waqf West: Hut of Noor Sab & Four Houses North: Road South: Property belongs to Waqf & Subhans Land	8.00 Lakhs	KTW/REG/16/M ND/2008-09 dated: 13.6.2008.	Muslim Jamath	Muslim Jamath	Madrasa	Nil	By custom	Deemed approved	Khata Effected
	Noorani Masjid & Arabic Madrasa Halhally Extn.,	ndrasa		Sy.No.5	80' X 80' ft =6400 Sq.ft	East: Remaining land of Waqf Board West: Ameer Khan North: Road South: Road	1.50 Crore	KTW/REG/10/M YA/80 dated: 28.8.1980.			Masjid &				
05	Mandya.	Sunni	Halhally Extn., Mandya City.		65' X 30' ft =1950 Sq.ft	East: Road West: Vacant land North: ThimmaiahS outh: Road	Crore	dated: 28.8.1980.	Muslim Jamath	Muslim Jamath	Madrasa	436409/-	By custom	approved	Khata Effected
	NooraniSamudaya Bhavana, belonging to Noorani Masjid Halhally Extn., Mandya.			Sy. No. 13/1 New Khata No.D6/2466/ 2466	0A-16G	East:Manchegowda West: Road North: Subhan Sab & Munawar Sab South:Honnagiri	5.00 Crore	KTW/REG/10/M ND/03-04 dated: 17.1.2004			Shadi Mahal				
06	Mecca Masjid & Arabic Madrasa, Indira Colony, Guthal, Mandya.	Sunni	Mandya City.	Sy.No. 411	0A - 06G.	East: Road West: Land belonging to ShankrannaNorth: Land belonging to Aslam Khan South: Land belonging to Shankranna	20.00 Lakhs	KSBW/REG/82/ MYA/2012-13 dt: 20.02.2013.	Muslim Jamath	Muslim Jamath	Masjid & Arabic Madrasa	308733/-	By custom	approved	Khata Effected
07	Masjid-e-Noor, K.H.B.Colony, Kuvempunagar, Mandya.	Sunni	Mandya.	Sy.No. 100/P4	60' X 50' =3000 Sq.ft	East:Shivanna S/o Late.JavarappaWest : Road. North: Road South: Remaining land of Waqf Board	30.00 Lakhs	KBW/REG/02/M YA/97-98 dated: 16.11.1998.	Muslim Jamath	Muslim Jamath	Masjid	143718/-	By custom	Deemed approved	Khata effected

08	Mairaj Masjid, Maruthinagar (GubeHalla), Guthal, Mandya	Sunni	Mandya City	Municipal .Khata No.D7/312/2 581/G-190	27 ¹ / ₂ X 80' =2200 Sq.ft	East: Khasim Sab &Shanawaz Property West: Akbar Hussain Property North: Shrikantacha rya Property South: Public Road.	15.00 Lakhs	KSBW/REG/135/ MYA/2013-14 dt:23.07.2015	Muslim Jamath	Muslim Jamath	Masjid	45000/-	By custom	Deemed approved	Khata effected
09	MahadeviaSadath Masjid, Sadathnagar, GuthalMandya.	Sunni Sunni	Mandya City	K.No.07/8907 /9-97	90' X 45' =4050 Sq.ft	East: Road West: Syed Nasrath& Syed Mubarak House's North: Ameerunsia W/o Syed Ibrahim, Naseema W/o K.Muneer&Chandbi W/o Dawood Khan House's South: Road.	80.00 Lakhs	KBW/REG/17/M YA/93-94 dated: 21.3.1994.	Muslim Jamath	Muslim Jamath	Masjid	129875/-	By custom	Deemed approved	Khata effected
	MahadeviaKhabras tan belonging to MahadeviaSadath Masjid, Guthal, Mandya.			Sy.No.604	1A-00 G.	East: Christian Grave land West:C.Kempaiah's land North:Govt.Heebal aSouth:Govt.land& Road.	40.00 Lakhs	KTW/REG/6/MY A/81-82 dated: 28.3.1982.			Khabrast an				
10	Anjuman-e-Islam (Madeena Masjid & Arabic Madrasa) Tippu Mohalla, V.V.LayoutMandy a.	Sunni	Mandya T own	Municipal Khata No.D7/2046/ 1820/G 4124	60' X 40' =2400 Sq.ft.	East: Remaining land West: House of BabuNorth:Samiull a S/o Basha Sab South: Yathagadahal ly Road	1.00 Crore	KTW/REG/15/M YA/88-89 dated: 17.5.1989.	Muslim Jamath	Muslim Jamath	Masjid & Arabic Madrasa	679554/-	By custom	Deemed approved	Khata effected

		wiyo Magiid		=1760	East: land belongs to site No.60 West: Road. North: land belongs to Masjid South: Road.	30.00 Lakhs	KTW/REG/3/MY A/87-88			Masjid					
	Addl. Property of Safdariya Masjid,		=1760	East:Syed PeerWest:Safdaria MosqueNorth:Galli South:Safdaria Mosque	30.00 Lakhs	dated: 29.10.1987.	Muslim	Muslim			Ву		As per RC. 3A – 31G., sketch extent		
11		Sunni	Mandya. City	Site No.60.	80' X 60' =4800 Sq.ft	East: Land belongs to Masjid West: Land belongs to Site No.5143/104 North: Land belongs to Masjid South: Road.	40.00 Lakhs		Jamath	Jamath		Nil	custom	approved	3A – 30G., Less 0A – 1G., Khata effected
				Sy.No.385/ 2P1, 385/2P2 & 385 /2P3	3A - 30G.	East:LaguHissaWes t: Sy.No.384 North: Road South: Sy.No.384	1.50 Crore	KTW/REG/1/MY A/94-95 dated: 7.12.1994.			Idgah&K habrasta n				
				Property No.A-3-SCR- 468/78-79 Site.No. 94	25' X 36' =900 Sq.ft	East: Rasheed Khan House West: Site No.93 North: Site No.127 South: Road.	30.00 Lakhs	KBW/REG/3/MY A/91-92 dated: 23.7.1998.							
12	Anjuman-e-Al Hasnath Masjid & Addl. properties Sugar Town, Mandya.		Sugar Town, Mandya.	Khata No.D8/1381/ 12299/Sts/ 127	25' X 32' =800 Sq.ft	East: Rasheed Khan West: VedavathiNorth: Road. South: Site No.94	15.00 Lakhs	KTW/REG/19/M YA/03-04 dated: 11.2.2004	Jamath Jamat	Muslim Jamath	Masjid & Arabic Madrasa	591841/-	By custom	approved	Khata effected
		Sunni	i	K.No. D81111/Sts/9 2 New K.No. D8/1346/122 64/Sts-92	25' X 36' =900 Sq.ft	East: Site No.93 West:Shantamma W/o BommegowdaNorth :Venkatalakshmam maSouth: Road.		KBW/REG/2/MN D/07-08 dated: 30.7.2007.							

				K.No. D8/1347/122 65/Sts/93	25' X 30' =750 Sq.ft	East: Site No.94 West: Site No.92 North: VidavathiSo uth: Road.		KBW/REG/2/MN D/07-08 dated: 30.7.2007. KBW/REG/1/MY A/97-98 dated: 23.1.1998.							
				Property No. 639	40' X 28' =1120 Sq.ft	East: Addl. Property of Noorani Masjid West:Puttaswamy (Asst.No.641) North:Babjan (Asst.No.637) South: Public Road	12.00 Lakhs	KTW/REG/9/MY A/87-88 dated: 28.7.1988.			Masjid		30,000/-	As per RC. 896 Sq.ft as per sketch	
	Noorani Masjid,		Hallegere	Property No.640	40' X 35' =1400 Sq.ft	East: Asst.No.737 West: Govt. School North: Asst.No.638 South: Road	5.00 Lakhs	KTW/REG/9/MY A/88-89 dated: 7.2.1989.	Muslim	Muslim		30,000/-			1120 Sq.ft Excess 224 Sq.ft,
13	(Sunni) Hallagara	Sunni	Village.	Mandal Panchayath Asst.No.3	22' X 15' =330 Sq.ft	East: Road West:Goradevra Temple North: Road South: V.Site of Temple	4.00 Lakhs	KTW/REG/10/M YA/88-89 dated: 9.2.1989.		Muslim Jamath	Ashoork hana		By custom	approved	effected
				Sy.No.69 new Sy.No.69/Q.	0A-12 G	East:Sarkari HallaW est:Sarkari land North: Road South: Border of Hallegere	15.00 Lakhs	KTW/REG/8/MY A/87-88 dated: 26.7.1988.			Khabrast an				
14	Masjid-e-Azam, Haluvadi, MandyaTq	Sunni	Haluwadi Village	Janjer No.41 Property No.41 (Site No.41 & 42)	60' X 45' =2700 Sq.ft	East: Site No.40 West: Site No.42 North: Road South: Galli	20.00 Lakhs	KTW/REG/3/MY A/94-95 dated: 8.6.1995	Muslim Jamath	Muslim Jamath	Masjid	317070/-	By custom	approved	Khata Effected

	Arabic Madrasa, under the management of Masjid-e-Azam, Haluvadi, MandyaTq			Property No.26	30' X 45' =1350 Sq.ft	East: Site No.41 West: Site No.43 North: Road South: Galli East: Site No.27 West: Site No.25 North: Galli South: Road.	. 5.00 Lakhs	KTW/REG/77/M YA/09-10 dated: 21.6.2010.			Arabic Madrasa				As per RC. 1200 Sq.ftas per sketch 1350 Sq.ft Excess 150Sq.ft, Khata effected
15	Jamia Masjid, &Arif-Ul-Uloom, Arabic Madrasa Sunni, Kamnayakanahally , MandyaTq	Sunni	Kamnaya kanahally Village.	P. No. 20.	30' X 45' =1350 Sq.ft	East: Site No.19 West: Road. North: DevarajuSou th: Road.	10.00 Lakhs	KTW/REG/7/MY A/88-89 dated: 12.1.1989.	Musli m Jamath	Muslim Jamath	Masjid & Arabic Madrasa	90580/-	By custom	approved	As per RC. 1200 Sq.ft As per sketch 1350 Sq.ft Excess 150Sq.ft, Khata effected
16	Dargah Hazrath Yousuf Shah Khadri, Kothati Village, MandyaTq .	Sunni	Kothati Village,	Sy.No. 237	0A - 08G.	East: property belonging to K.P.SowmshekarWe st: Remaining land & Road North: Drain South: Kothati – Santhe KaselgereRao d	8.00 Lakhs	KSBW/REG/66/ MYA/2012-13 dt:07.11.2012.	Muslim Jamath	Muslim Jamath	Dargah	193547/-	By custom	Deemed approved	As per RC & Survey sketch Measurement 0A – 8G., but RTC updated 1A-0G.,
				P.No.300	30 x 40 =1200 Sq.ft	East: G.Gudaias Land West: Site No.5 North:Drinage South:Road	20.00 Lakhs	KTW/REG/6/MY A/1988-89 dt:11.01.1989.			Dargah				
17	Masjid Sunni, Tagahalli	Sunni	Tagahalli Sunni T.Mallig ere	Khata No 5/5	30 x 40 =1200 Sq.ft	East: Masjid West: Ghouse Peer House North:Drinage South:Road	10.00 Lakhs	KTW/REG/12/M YA/2002-03 dt:16.09.2002.	Jamath J	Muslim Jamath	Madrasa	193547/-	By custom	Deemed approved	As per RC 30 x 40 as per Sketch= 45x 55 Excess 1275 sq.ftKhata Effected
				Sy No.27	0A-30G	East: Road West: Manchegowda @ ChikaidegowdaNort h:Road South:Kemppamma	15.00 Lakhs	KBW/REG/1/MY A/1997-98 dt:23.01.1998.			Khabrast an				

			Pura	Sy No.3 New Sy No.3/6	0A-02G	East: LaguHissa 1B West: Noor Jaan North:Tagahalli Border South:SyedAtaulla	3.00 Lakhs	KBW/REG/8/MY A/2001-02 dt:07.04.2003.			Madrasa				
18	Idgah&Khabrastan, BevenahallyKothat iHobli, Mandya Taluk & Dist	Sunni	Bevenaha Ili	Sy No.112/2 New Sy No.112/6	1A-27 ½G	East: Kaluve West: Sy No. 11 North:Bhukali&Jula ppas Land South:Remaining land of sy no.112/2	20.00 Lakhs	KBW/REG/24/M YA/2007-08 dt:01.10.2009.	Muslim Jamath	Muslim Jamath	Khabrast an	Nil	By custom	Deemed approved	Khata Effected

Total No. of Institutions : 18 Total No. of Properties : 35

Total Extent in Sy.No. : $08A - 11^{1}/_{2}G$, Total Extent in Sq.ft : 96,280Sq.ft.

By Order and in the Name of the Governor of Karnataka

(C.PUTTANANJAIAH),

Under Secretary to Government, Revenue Department (SSLR)